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L U2u+3=tr4 6
(A) -1
(B) 0
) 172

(@ 2

2. 1
-, pi?[l;esh 15 on 9th position from upwards and
h sition from downwards in a class. How man
Students are there in the class? . ’

(A) 47
(B) 45

@4

(D) 48

—lﬂ,ﬂmenwhalisﬂw.eva]ueofr?

3. Change the voice (Active/Passive):
People once believed that the sun was a God.
(A) The sun is once being believed to be a God.

(B) The sun has once been believed to be a
God.

@ It was once believed that the sun was a
God.

(D) It is once believed that the sun is a God.

4. Which one of the following best describes the
‘community policing’?
Developing community partnership and
engage them in problem solving.
(B) Developing the community in self-sustenance
and economic development.
(C) Engaging the community 10 create awareness
about Human Rights.
(D) Delegation of police duties to the public.

5. If 1/2 is 3/4 of 4/5 of a certain number, what is
the number?
(A) 3/10
5/6
(C) 6/5
(D) 11/10

SQ/I15

1. T 2t + 3y = 4t + 61 — 10 TH, O (~9F T FS?

(A) -1
(B) 0
©) 12
(D) 2

3, mmmﬁc@mwm@ﬂamcmmw
aaaﬁmﬁac@wmﬁﬁmmlmﬂimﬁw

WY TS ? o AT
(A) 47 B _
(i A% s " w B
© 46,

(D) 48

3. Change the voice (Active/Passive):
People once believed that the sun was a God.
(A) The sun is once being believed to be a God.
(B) The sun has once been believed to be a

God.
(C) It was once believed that the sun was a

God.
(D) Itis once believed that the sun is a God.

4. s e @ RO TR <ffFfi 7= o
Tl e

(A) A Sz afed THEm R T
sty AiEs Fgfesad |

(B) Fife SgfRSTAeTeR Tavm ¢ WfE
=

(€) TR wewe! JGw Ine AN
fRygfeead|

(D) A FEYM PR TP TWEI-
31

5. T A AT 4/5 WA 3/4 W 1/2-9% TR
77, O A I ¢

(A) 3/10 y
(B) 5/6
(C) 6/5
(D) 11/10
[Please Turn Over
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6. The synonym of ‘Indifferent’ is
A) Neutral
(B) Unkind
(C) Precious
(D) Interested

7. Which one of the fol
private Greenfield Airport?
(A) Mopa Airport, Goa
(B) Navi Mumbaij Airport
%) Kazi Nuzrul Islam Airport, Durgapur

(D) Netaji Subhash Chandra Bose Airport,
Kolkata

lowing is the India’s first

8. A class is sponsoring a drama production to
raise funds and plans to charge the same price for all
admission tickets. The class has Rs. 700 in expenses
for the production. If 300 tickets are sold, the class will

make a profit of Rs. 1,100. What will be profit for the
class if 500 tickets are sold?

(A) Rs. 1,133
(B) Rs. 3,700

© Rs. 2,300

(D) Rs. 1,833

9. Which of the following diagram denotes the
group of mother-nurse-teacher?

@A)
@ @9
©)

® @&

10. Find out the error from the underlined.
Choose (D) if the sentence is correct.

Exc;sgjvg sugar intake gg.n lead to addiction, obesity
and to diabetes. ML&}IID_(
g

A -
(B) b
©) c
(D) d

6. The synonym of ‘Indifferent’ is
(A) Neutral
(B) Unkind
(C) Precious
(D) Interested

7. fsaffe i SR gew & AermEy

famfrs aaiaealt 2
(A) Gl GRICAT, Csirn

(B) 7 iR au=Ceis
(C) T wEFa T GAAAT, gofiefR
(D) TG S 58 (I GAACAD, FoAre]

8. wf¥e Heaiea Sy 93l e waR @3l wibe
973 IR AR $IE G GIR YEVH ARG Iy
a7 F3a 339 | & 7153 wE FIIR IJTSR f&a 7005
T 300 =i+ RS =, or & @i & 23 1,100
B | Tfi 500 erisia Rfers =, o @ @fde o/ 3
R

(A) 1,133 Bt
(B) 3,700 St
(C) 2,300 Bt
(D) 1,833 %/

9. 53 R ot arer-GiRn-Fress Ao a@ e

&)
B) Q9

10. Find out the error from the underlined.
Choose (D) if the sentence is correct.

Eisf.s_siu sugar intake can lead to addiction, obesity
and o diabetes. l‘ioam:.b

C

(A) a

(B) b

C) ¢

(D) d

www.kolom.In



11. Who

establ; : ,
Kolkata (Calcut;}l'_:Sth the Hindu College in

(A) Henry Louis Vivian Derozio
(B) Iswar Chandrg Vidyasagar
(C) Keshab Chandra Sen

Raja Rammuhan Roy

1 -
averz A total of 9 students took a test and their
age score was 86. If the average score of 4

stu
df.‘_st was 81, what was the average score for the
®maining 5 students?

(A) 87
(B) 86

© %0

(D) 91

13. Today is Monday. After 61 days, it will be
(A) Wednesday
@ Saturday
(C) Tuesday
(D) Thursday

14. Change the speech (Direct/Indirect):
‘Call the first witness’, said the Judge.

The judge commanded to call the first
witness.

(B) The judge commanded thHem to call the
first witness.

(C) The judge commanded that the first
witness be called.

(D) The judge commanded the first witness to
be called.

15. The first Metro Railway Service in Kolkata

SQ/15

11, TR 3 e (< of Dt T ?
(A) 2 2 fefenm fermfes
(B) Zwavw fameise
(C) @=iave T
(D) S ANCARA A

12. G ~13=rm 9 & WEd Al Se 773 86 | T ST
T 4 T QAT 2 5 794 81 2, B A 5 & =
A 51 TFI TS ¢ s

56 *5 ,.01'3'1'0

(A) 87

s\
(B) 86 ’cﬁ
(C) 90,
(D) 91

13. <% (AR | 61 = #itz= I
(A) 3@
(B) ===

(C) R

(D) T,

14. Change the speech (Direct/Indirect):
‘Call the first witness’, said the Judge.

(A) The judge commanded to call the first
witness.

(B) The judge commanded them to call the
first witness.

(C) The judge commanded that the first
witness be called.

(D) The judge commanded the first witness to
be called.

15. TP RN ARTEA by =

began ingthe year (A) 1984 i

((4) 1984 (B) 1981 =

(E) :gﬁ; (C) 1975 7=

ED; 1979 (D) 1979 =
www.kolom.in
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16. The sun is predomunantly made up of
m Hydrogen and Helium
(B) Hydrogen and Neon
(C) Hydrogen and Xenon
(D) Hydrogen and Carbon dioxide

17. If xy + 7y = 84 and x + 7 = 3, then what is the
value of y?

(A) -4
(B) 49
(C) 84

@) 2

18. Choose an alternative from below which is
different.

(A) Kolkata
(B) Haldia
(C) Paradeep
@Ranchi

19. Select the best alternative of the underlined
portion from among the choices given:

Sanjay baked his first cake and_hc_was_l.ﬂmr&n_y_ca[ﬁ
old then.

(A) and he was thirteen years old then
(B) at age thirteen years old

when he was thirteen
(D) upon the reaching of thirteen years

20. Which one of the following diseases is not
caused by bacteria?

(A) Typhoid
@Inﬂuenza
(C) Diphtheria
(D) Cholera

16, 7 S (@ TowAe el 78 2
(A) qﬁ@tﬁeﬁ%ﬁm
(B) m‘i"@tﬁ@ﬁﬂﬂ

(C) FRGITEA @ (T
(D) m@mm

17. nﬁxy+7y=s4amx+7=3531,wwam
FT?
(A) -4
(B) 49
(C) 84
(D) 28

18. fraffe wmstaf utg (T G5 SRR TR oS
2 (A ST (T S |
(A) TS
(B) =Wl
(C) #=mais
(D) #f5,

19. Select the best alternative of the underlined
portion from among the choices given:

Sanjay baked his first cake and he was thirteen years
old then.

(A) and he was thirteen years old then
(B) at age thirteen years old

(C) when he was thirteen

(D) upon the reaching of thirteen years

| 20. RS o oS b e e R zm e

(A) TiXwrrs
(B) Tgme
(C) Tewirefam
(D) ¥
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21. She

h ;
husband. as three children

her

(Fill ;
1110 the blanks with the right option from below.)
(A) of

(B) in

22. National Police Academy is located at;
(A) Bangaluru
Hyderabad
(C) Nagpur
(D) Dehradun

23. When four _given numbers are multiplied
together, the product is negative. Which one of the
following could be true about the four numbers?

(A) One is negative, two are positive and one
is zero.

(B) Four are negative.

(C) Two are negative and two are positive.
Three are negative and one is positive.

24. Select the alternative that will come in place
of question mark (?).
computer : fgprxvht : : language :7
(A) oxpixdig '
(B) ocqicyig
ocqgixcjg
(D) ocqixcig

25. He living in Delhi for ten years

when I went there. .
(Fill in the blanks with the right option from below.)

(A) was been
(B) were

@ had been

(D) is

www.kolom.In
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21. She has three children her

husband.
(Fill in the blanks with the right option from below.)

(A) of
(B) In
(C) by
(D) from

22. SIE {0 SORICSH (I SRS ?
(A) (IEF
(B) JFGRAM
(C) =M517fR
(D) crargs

23. uffi 5l MG AR oI G IR A0 =H,
w2 eyl 512l TIeE Ak @m R 79 ¢
(A) @3B 2, 7o YIS 932 G0 2 |
(B) ST Fe A |
(C) w® A R i 4R |
(D) oM 3 wag 93 N |

24, AN (7) B TR & THge il e
TFe |

computer ; fgprxvht : : language :?
(A) oxpixdig
(B) ocgicyig
(C) ocqixcjg
(D) ocqixcig

25. He living in Delhi for ten years
when I went there. |

(Fill in the blanks with the right option from below.)
(A) was been
(B) were
(C) had been
(D) is

[Please Turn Over
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26. Rita travelled 35 km from a point towards
south and then turned left and travelled 20 km and

finally wrned left again and travelled 35 km. In

which direction is she from the starting point?
@ East
(B) West
(C) North
(D) South

27. The antonym of ‘Absurd’ is
(A) Scarcity
(B) Adorn

Q Rational

(D) Insane

28. In computer language ‘TB’ stands for
(A) Tetrabyte
Terabyte

(C) Terabit
(D) Tetrabit

29. On a blue print, 0-4 inch represents 6 feet. If
the actual distance between two buildings is 76 feet,
what would be the distance between the
corresponding buildings on the blue print?

(A) 32 inch
5.1 inch
(C) 127 inch
(D) 304 inch

30. Five girls are sitting on a bench to be
photographed. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is
between Rani and Mary. Who is sitting immediate
right to Reeta?

(A) Bindu
(B) Rani

©) My
(D) Seema

WWW.K

26. <@l FlF8 Tt (e T 6F 03 0! 7fE fiz
35 R T 1 32 IR G A 973 (916 IR TRe
20 fefir Tl 9 | TR (7 {18 JAMCE A (5197 43
35 5 Tel T4 | W1 WFF S (AT 937 (T @I -

9 S FACR?

A) o4 29
(B) =iffox A

(C) Teg, ¥
(D) wf

27. The antonym of ‘Absurd’ is
(A) Scarcity
(B) Adomn
(C) Rational
(D) Insane

28, T sifera s TH’ 93 wef
(A) Tetrabyte
(B) Terabyte
(C) Terabit
(D) Tetrabit

29, nﬁmwo-ﬁf&ww%@‘ﬁm

TR W, B3 76 B {0k WS 6 SR g &

APTS F© I ¢
(A) 327 oy4e ™
(B) 51%f% S
(©) 127 %fx S5
(D) 30-4%f% AL
/
30. 'R (o1 T Shves

TG | o wpafie @ I 2
) fimg -
(B) = o5 " N
© afy,



‘National Youth ;
birthday of Pay

(A) Khudiram Bose

(B) Bhagat Singh

(C) Subhash Chandra Boge
Swami Vivekananda

is celebrated on the

32. As per the
of India?

(A) 880
(B) 970
(C) 910

940

Census 201 1, what is the sex ratio

33. Match the foil.owing:
(1) Current

Ohm
(2) Resistance Ampere
(3) Power Kelvin
(4) Temperature Watt

(A) 1-1, 2-2, 3-3, 44
(B) 1-4,2-3,3-2, 4-1
(C) 14, 2-1,3-2,4-3
@ 1-2, 2-1, 34, 4-3

34. Who among the following is appointed by the
President of India?

(A) Attorney General of India

(B) Comptroller and Auditor General of India
(C) Governor of State

SQ/15

31. Frie com wispFEs wufi e el os’
Sarfere zu ¢
(A) "gfieams @
(B) ®ore i
(C) o & /M
R) 7 Rt

32. 2011 GRSFAI/STEEIEA SRR SRS X
TS IS ¢

(A) 880
(B) 970
(C) 910

@

33, #® =R wem ¢

(1) IE%

(2) @fEom Wf“’fﬂﬁ
(3) Mear &=
(4) iD= B

(A) 1-1, 2-2, 3-3, 44
(B) 1-4,2-3,3-2, 4-]
(C) 1-4,2-1,3-2,4-3
(D) 1-2,2-1,3-4,4-3

ﬁﬂaﬁ%mﬂwﬁ‘mﬁwﬂﬂﬁawﬁqw
Lok

(A) UbH w3
(B) Wmmmﬁwm

(©) e A =i
All of the above
@ Ate (D) Sotem ey
35. Calculate the average of the square of first 35. = el e A arsfa MG el ey |
five napural numbers. (A) 11
I 5 (B) 25.5
- 2 o
(D) 45 (D) 4_5
www.kolom.In
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3(;. A’can lay a railway track between
stations In 16 days and B can do
days. With the help of C, they can
Then, C alone can do the job in

1
(A) 9-5 Days

two givens
the same job in 12
do the job in 4 days.

(B) 9% Days

3
(©) 2} pavs

(D) 10 Days

37. Find. out the error from the underlined.
Choose D if the sentence is correct.

With the Qaevelopmf_:n_l of vaccine, there are

hardly % cases of small pox or yellow fever,
anywhere in the world. No error.
c
(A) a d
_ b
c
d
38. The ‘Project Sabujayan-2015’ was launched
in West Bengal for the following reasons:
(A) To control Agricultural pest
To prevent Soil erosion
(C) To reduce Arsenic poison
(D) Urban Development
39. If one worker can pack 15 boxes every two
minutes, and another can pack 15 boxes every three
minutes, how many minutes will it take these two
workers, working together, to pack 300 boxes?
(A) 10
(B) 12
24
30

40. Find out the error from the underlined.
Choose D if the sentence is correct.

A number of the athletes El_}‘i;h were

ipating | i to have used
participating In Olympics _w_e[_;:_b[g_u_ud o ha
steroids and other muscle building substances _to

znl:éﬂﬂi‘i their performance. EQ.&EEQI

A) a

b
(C) ¢
(D) d

36. A b GOMIR W R AR e 16 fiw
ool W@ @32 B & @w2 g 12 Tl 9 9| Caqm
gy i ok @ e 4 fw T ¥ C g @
TG IR

(A) 95 fie
(B) 95 fate
(€) 93 fiem
(D) 10 fats
37. Find out the error from the underlined.

Choose D if the sentence is correct. _
With the development of vaccine, there are

a
hardly no cases of small pox or yellow fever,

anywher®in the world. No error.
© (A a d
(B) b
(©) ¢
(D) d

38. FAxfafie 9w 265w ‘Project Sabujayan-
2015’ bfe ZCAfE ¢
(A) FiEEre Aosrox e
(B) gfirsa G
(C) =G wael camey
(D) ToE THAEA
39. M wzTw ufie &fS 4 FfAE 15 B a9 < sare
vﬂm«aazuwammﬁ%ﬁ%ﬁ?ﬁﬁtﬁ 15 I
HId IS ANIA, S A GIHR IG F I 300
A A IS WG IS A AN ¢
(A) 10
(B) 12
(C) 24
(D) 30
40. Find out the error from the underlined.
Choose D if the sentence is correct.

A number of the athletes which were

a
participating in Olympics were b!guuﬂ to have used
steroids and other muscle building substances to

enhance their performance. No eryor.
¢ d

(A) a
(B) b
©) ¢
D) d

www.kolom.in
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4]:. Select the best alternative of the underlined
portion from among the choices given:

Jogging a Kilometre uses the same number of
calories as if you walk two kilometres.

@ as walking

(B) than to walk
(C) than by walking
(D) as though you walk

42. Who led the ‘Salt Satyagraha Movement’
with Mahatma Gandhi?
Annie Besant
(B) Mnddula Sarabhai
(C) Muthu Lakshmi
(D) Sarojini Naidu

43. In what ratio must the grocer mix two varieties
of pulses costing Rs. 15 and Rs. 20 per kg respectively,
SO as 10 get a mixture worth Rs. 16-50 per kg?

(A) 3:7
B) 5:7
7:3

(D) 7:5

44. Select the best alternative of the underlined
portion from among the choices given:
If we agree to purchase the house today, we
would have saved Rs. 50,000, e |
(A) If today we agree to purchase the house
(B) Had we agreed to purchase the house
today
If today we will agree to purchase the
house
(D) If we would of agreed to purchase the
house today

45. Tropic of Cancer passes through the district
of
(A) Coochbehar
(B) Malda
@ Nadia

1 SQ/15

41. Select the best alternative of the underlined

portion from among the choices given:

Jogging a kilometre uses the same number of
calories as if you walk two kilometres.

(A) as walking

(B) than to walk

(C) than by walking )

(D) as though you walk

42. TR A SN NZ SR AR & 7Y
firafersm
@- I @Y
B) gl RS
(C) 3y
D) ARIfEm wRy

43. 155/ 6 20 B offS st Jrev9 w2 7 O I
M A wmeine e saE ofS R 16-50 B =3
farey iR 2

44. Select the best alternative of the underlingd
portion from among the choices given:
w ee 1o purchas
|__would have saved Rs. 50,000.

T TtA) If taday we agree to purchase the house

(B) Had we agreed to purchase the house
today

(©) If today we will agree to purchase the
house

(D) If we would of agr
‘ house today

]
th u we

eed to purchase the

45, Wﬁmmm%ﬂﬁmcﬂm:
(A) Pl
(B) wewg
(C) ",

(D) South 24 Parganas

www.kolom.In
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46. What is the value of 2if x =

(A) 3
(B) (81)?
(C) 9
® s

152 -12% 9

47. Sunita writes
(Fill in the blank)
(A) on
@ with
(©) in
(D) by

her left hand.

48. Ramanujan is a world famous
Mathematician
(B) Scientist
(C) Economist
(D) Physicist

49. The length of a rectangle is four times its
width. If the perimeter of the rectangle is 40
centimetres, what is the area?

(A) 4 cm?
(B) 16 cm’
) 40 cm?
64 cm’

§0. Arrange the following words according to
dictionary arrangement:
(1) Wound (2) Writer (3) Whither
(4) Worst (5) Worked
(A) 5,32, 1, 4
(B)

1

3,5
4,1
3,4

-—‘U'l-h

s
3-
D) 2,1,3,4%

www.kolom.In
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46. M x = 152"122 , OTR X ~9 WA
(A) 3

(B) (81)*
<) 9

@81

47. Sunita writes
(Fill in the blank)
(A) on
(B) with
(C) in
(D) by

her left hand.

8. PR firem gem TS
(A) sz
(B) (am(fae
(C) SeAifeRm
(D) *miRm

49. @ THECIER Y, Atga vrRes| T @
meﬂﬁﬁmmmﬁwmmmu;un

(A) 43 i
(B) 16 =sf *f%
(C) 40 asf =f%
(D) 64 3sf =%

50. M 1M ,
ey et aegieten gt sy

(1) Wound (2) Writer (3) Whither
(4) Worst (5) Worked

(A) 5,3,2,1
(B) 1, 4,
©) 3,5

4
3,5,2
.4, 1,2
3,4,5

» L]

(D) 2,1



5}. Who is the father of the ‘White Revolution® in
India?

(A) Dr. Hiralal Choudhary

@ Dr. Verghese Kurien
) Norman Borlaug

(D) None of the above

52. For a given year, a Mayor has Rs. 45,000
allotted to spen

‘ d on the sanitation department, the
Police department ang fire department. If 1/5 of his
money

£0¢s 10 the sanitation department and 2/3 of the

r€maining money 80es to the police department, how

much does the Mayor have left for the fire department?
(A) Rs. 21,000

(B) Rs. 6,000

(C) Rs. 24,000

‘Rs. 12,000 '

53. Select the best alternative of the underlined
portion from among the choices given:

Because Ritha, expected not to
ing little interest in school.

@ she took little interest in school

B) she will take little interest in school
(C) she would take little interest in school
(D) she takes little interest in school

£0 to college,

54. NSSO stands for:
(A) National Scientific Survey Organization
National Sample Survey Organization
(C) Nuclear Science Study Organization
(D) National Scientific Standard Organization

i i i d 5 paisa
5. A bag contains 25 paisa, 10 paisa an
co?ns in the ratio of 1:2:3. If r.hf: lota{ value is Rs. 30,
then what is the number of 5 paisa coins?

(A) 50
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51. ORI ‘FIRS FERIC"-93 &S (2
(A) 2 3reTe Gy
(B) ©: wifsf Ffacm
(C) 73=m Ig=T19
(D) TARR @GR 7

52. wrgrE, sifert wew w3k SffFdie weitzn &
TH-IRA (A IR I3 45,000 51 I9% 9= |
I R WA 1/5 S PR 9 GARB e 2/3
wee sfferl TR w U W SR SR ol wQER &
TR TS stfme @ef 73w cafiEm

(A) 5=l 21,000
(B) = 6,000
(C) = 24,000

(D) B 12,000

53. Select the best alternative of the underlined
portion from among the choices given:

Because Ritha, expected not to
is taking litle interest in school.

(A) she took little interest in school

(B) she will take little interest in school
(C) she would take little interest in school
(D) she takes little interest in school

20 1o college,

54. NSSO =2 wonf} = ¢
(A) “UHIRI A FBR 1108 wefaiarerem
(B) SPISTE S1ofet 1€ ot
(C) ﬁﬁ&mm%aﬁﬁm
(D) PRI AP 31 w iz

55, aasfﬁmzsm. 10 1T 932 5 sigwrg
1:2:3 W9t 2y | ofe .

T, TR @ e 5%%?1?1%%? Ll
® 100 %5
S0
na
[MTllrnOver
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56. Select the best answer from among the
choices given:

‘ As a person who would never animals,
Kavita takes extra care to avoid hitting squirrels while
driving.

(A) love
(B) maltreat

{C) accept

(D) keep

§7. The Nobel Peace Prize for 2016 has been
awarded to the President of which of the following

countrie
@ Colombia
B) Mozambique

(C) Morocco
(D) Norway

58. If the sum of two numbers is 10, and one of
those numbers is equal to the sum of 6 and twice the
other number, what is the value of the larger number
minus the smaller number?

(A) 2
Wi 1
(C) 6
1
®) 85

59. Select the best pair of words to fill in the gaps
from among the choices given:

The fireworks display created so much :
that the night sky was completely , almost as if
it was the middle of the day.

(A) refuse, detonated

B) colour, decorated
% light, illuminated
(

noise, joyful

60. The fastest train in India is
(A) Rajdhani Express
L ¢23) Shatabdi Express
(C) Duronto Express
(D) Gatimaan Express

14

|

56. Select the best answer from among the

choices given: -
As a person who would never animals,

Kavita takes extra care 10 avoid hitting squirrels while

driving.
maltreat

)
accept

(D) keep

57, Tz @i orifa AR 2016 AT I
Wiy oFrEI S 9 TAR?
(A) =l
(B) reif¥®
(C) T
(D) “RGW

love

58. T AfS AR QT 10 IR A w2l s
2R Ao 93g 6-43 CUISTTET TR ZF, O I A
(s (=B ALt Rrans e Ruses 39 I ?

(A) 2

1
i
(B) 3

©) 6

1
8—
@) 5

59. Select the best pair of words to fill in the gaps

from among the choices given:

The fireworks display created so much
that the night sky was completely , almost as if
it was the middle of the day.

(A) refuse, detonated

(B) colour, decorated

(C) light, illuminated

(D) noise, joyful

60. SRSIH FoHy AASNEI 19
(A) TR 32
(B) *rera WA
(C) T e
(D) sfSum e
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